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)DWMUL� $OIL\DQGUL ������� �� -DQJNDXDQ� 3HOD\DQDQ� GDQ� .RQVXPHQ� 0LQDQJ
0DUW�GL�.RWD�3DGDQJ

3HQHOLWLDQ� LQL� EHUWXMXDQ� ��0HPHWDNDQ� MDQJNDXDQ� SHOD\DQDQ 0LQDQJ�0DUW�
.RWD�3DGDQJ����0HQJDQDOLVLV�NDUDNWHULVWLN�NRQVXPHQ�0LQDQJ�0DUW�.RWD�3DGDQJ���
��0HQGHVNULSVLNDQ�EDUDQJ \DQJ�GLVHGLDNDQ�0LQDQJ�0DUW�.RWD�3DGDQJ�

-HQLV� SHQHOLWLDQ� GHVNULSWLI� GHQJDQ� SHQGHNDWDQ� .XDQWLWDWLI�� 3HQHOLWLDQ
GLODNXNDQ� SDGD� EXODQ� -XOL�$JXVWXV� GL� 0LQDQJ� 0DUW� .RWD� 3DGDQJ� 7HNQLN�
SHQJXPSXODQ�GDWD�PHQJJXQDNDQ�ZDZDQFDUD�DQJNHW��REVHUYDVL�GDQ�GRNXPHQWDVL��
7HNQLN�DQDOLVLV�GDWD�PHPDNDL�SHUVHQWDVH�GDQ�UDWD�UDWD�

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� ��-DQJNDXDQ� SHOD\DQDQ� PHPLOLNL� �� UDQJH�
\DLWX�EDWDV�ULLO��EDWDV�GDODP�GDQ�EDWDV�LGHDO� ��.DUDNWHULVWLN�NRQVXPHQ�GLGRPLQDVL�
ROHK�ODNL�ODNL����RUDQJ����������UHQWDQJ�XPXU�������GHQJDQ�SHNHUMDDQ�PDKDVLVZD�
GDQ WLQJNDW� SHQGLGLNDQ� WHUDNKLU� 6/7$�60$� ��� RUDQJ� ��������� %HUGDVDUNDQ�
DODVDQ� NH�0LQDQJ�0DUW� GLGRPLQDVL� \DQJ�PHQ\DWDNDQ� KDUJD�PXUDK� VHEDQ\DN� ���
RUDQJ� ������ %HUGDVDUNDQ� NXQMXQJDQ� NH� 0LQLPDUNHW� ODLQ� GLGRPLQDVL� \DQJ�
PHQ\DWDNDQ� SHUQDK� VHEDQ\DN� ��� RUDQJ� �������� %HUGDVDUNDQ� NXQMXQJDQ� NH�
0LQDQJ� 0DUW� �EXODQ�� GLGRPLQDVL� \DQJ� PHODNXNDQ� NXQMXQJDQ� ���� NDOL� �EXODQ��
VHEDQ\DN� ��� RUDQJ� ������ %HUGDVDUNDQ� EDUDQJ� \DQJ� GLEHOL� GL� 0LQDQJ� 0DUW�
GLGRPLQDVL� \DQJ� PHPEHOL� NHEXWXKDQ� SHQXQMDQJ� VHEDQ\DN� ��� RUDQJ� ���������
%HUGDVDUNDQ�SHQGDSDWDQ�GLGRPLQDVL�\DQJ�EHUSHQGDSDWDQ���5S���������VHEDQ\DN�
��� RUDQJ� �������� %HUGDVDUNDQ� SHQGDSDWDQ� \DQJ� EHUSHQGDSDWDQ� �� 5S� ��������
VHEDQ\DN����RUDQJ� ����������3URGXN� \DQJ�GLVHGLDNDQ�PLQDQJ�PDUW�SDGD� WLSH�$�
MDXK�OHELK�OHQJNDS�GDUL�SDGD�WLSH�%�GDQ�&���
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